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fAM: BIIIRIA
HE: IR P (UNTTHY/ABHE)
ce: QIRSEAMBIA HS CEREED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
ORI XE| OIL2IXl S4=XF AlAt
2,000,000 13| 2,000
OXESRE LA 1,200,000& *13] 1,200
308 AXIEHSOIA 17,860 15,650 2,210
11 SO 2SOHSHE A EAEAIE Y| 17,860 15,650 2,210
OXNICH FUSEEHEBAIAE RA24H|
17,860,000& 14! 17,860
SEod ¢33 29 40,056 A,0% A54,040
201 82| 40,056 36,096 3,960
02 Z=2294| 40,056 36,0% 3,960
OsSEsxYU2)| SAES
71,5003 *12CH* 128 10,2%6
ORQI0IAALZ)| KRAES
150,000& x12CH = 12& 21,600
ORCI0IAYZ)| ARSI Z
190,000 *3CH* 122 6,840
ORIRAA HAY S22
110,000 *12& 1,320
IIEZHSEAMNR XJ 15,419 15,760 A341
= 15,419
201 et AH| 12,119 12,460 NA341
= 12,119
01 AF22t2|H| 12,119 12,460 A341
OJIEZH SEBANR ARE F2¢
119,000 * 14! 12,119
= 12,119
202 o4d] 3,300 3,300 0
= 3,300
01 Z2LH0L| 3,300 3,300 0
QIIEHH SEMR EF
550,000 x6H =™ 3,300
= 3,300
o &= 10,029 10,000 29
= 10,029
201 LB-2AH| 10,029 10,000 29
= 10,029
01 AFR222lBl 9,765 10,000 A235
ONZLS MRt 9,765,000 * 14! 9,765
= 9,765
02 Z=2294| 264 0 264
OALZ M2 |z 22,0002 x 128 264
= 264
AEHE SH(ZELXHIE/XHALTAI 107,600 128,400 N20,800
A= 29 107,600 128,400 A20,800
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HE: AZHE S (IEUXAHL/ XSV AI)
el AFdY 29 (9 &)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
2A=6JF Eol L2200 80,000 80,000
301 YeteN&a 80,000 80,000
14 JIEIEA S 80,000 80,000
OA=5I} HoIUD (feArE
300,000& 1003 30,000
OAZATD HOIYD [faasE
100,000 *5003] 50,000
Pat | 27,600 48,400 A20,800
201 LBt AH| 13,600 24,400 A10,800
01 AF22t2|H| 13,600 24,400 10,800
OXNYUAHSZARG &Y
70,0003 %10 *82] 5,600
OXNLUAHSZAA3 HASE
100,000 x10H +83| 8,000
202 o481 4,000 4,000
01 Z2LHodY| 4,000 4,000
ORIEtASE & . &S5 & Ol Z E
0,000 *4H *x503| 4,000
401 Al HIZL 20| 10,000 20,000 210,000
01 Al&HI 10,000 20,000 210,000
SAEHHEZS SFEHIAIS
10,000,000& 13| 10,000
MBI FEHOHH (AIRISXI/FE) 2,171,879 1,909,604 262,275
= 1,471,625
& 190,303
= 509,951
SSTE =)ot 230,420 230,500 280
SSTE2e| 230,420 230,500 N80
201 LBt AH| 13,460 13,500 N0
01 AF222|H| 13,460 13,500 Yav'o]
OFSALALHE Mol BAaL
70,0002 %10H*53] 3,500
OEAEAILAE AR HASD
100,000 x10H *53| 5,000
OSSTE otNdAEA
20,0002 x2H x243| 960
O3SFE AMR2e2l]
1,000,000& 14! 1,000
OBEXS AVIHLA BAL4E
3,000,000&*1EHX| 3,000
202 o4d| 960 1,000 A0
01 Z2LHOoY| 960 1,000 N0
(OFEI=ES = PNFS I
20,0003 x2H %243 960
307 212+0| A 16,000 16,000 0
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2N SRR
BB MOl FHOHE(ASI = XI/FE)

o9l REFE FHHOIY

EERED

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
2 QI AA B E 16,000 16,000 0
OBEZY BAS HIBNY
500,000 *32EH K] 16,000
402 BIZHXIE0| A 200,000 200,000
01 BIZFRHR AN B X (KA THE) 200,000 200,000
OBE=Y APt XY
20,000,000&*10SHK| 200,000
SHE MEstA A 65,000 95,000 A30,000
S& BIEEBIAIS 65,000 95,000 A30,000
401 AIZHIL 20| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OsZE SFH=ZHUIANE
5,000,000 4= 20,000
402 SIZEXI=0| M 45,000 45,000
01 QIZEXHE A B R (XM THE) 45,000 45,000
OsE AN (PA)
3,000,000 *15= 45,000
MASS F=Hotd K& 1,876,459 1,584,104 292,355
= 1,471,625
= 190,303
= 214,531
PFE Q0D |xMESLZ I XIS 12,000 12,000
202 o4d| 2,000 2,000
01 2LHoY| 2,000 2,000
O30 XS AT P2 E XA
20,0002 «2H *503] 2,000
401 AlIEH|LL20HH] 10,000 10,000
01 Al&HI 10,000 10,000
O=KX= 4 IIA/AHS =&SA
1,000,000& 10 10,000
FH20 1,811,319 1,493,904 317,415
= 1,449,055
= 181,132
= 181,132
301 LetE ™= 1,478,472 1,342,821 135,651
= 1,182,778
== 147,847
= 147,847
01 MBI EEELHS(2DEZME) 1,478,472 1,342,821 135,651
OJ|=MEEH =2 FH2(H
160,000& x770.037& x 12& 1,478,472
= 1,182,778
= 147,847
= 147,847
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BB MOl =HOMH (ASI = XI/EE)
&R MNASE F=HE XA CERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OGN BtAl EEXIS
200,0002 14,0582« 128 33,740
=) 16,870
& 5,061
= 11,809
=X M (sHollLd/ sy - s5) 22,000 22,000 0
SXDjeate] 22,000 22,000 0
SA g 2l 22,000 22,000 0
201 et AH| 17,000 17,000 0
01 AtR222|BI 17,000 17,000 0
oO=YdE= S22
500,000& * 103 5,000
O=YIHLHR S-S
500,000& *x102] 5,000
Qg 2AHERAS &G
70,0002 «10¥ %103 7,000
202 o4H| 5,000 5,000
01 Z2LHoY| 5,000 5,000
oML HE=E0MU|
20,0003 *3H*503| 3,000
O=sXEES I EESHOL]
20,000& x2H *503] 2,000
AR 22| (Sl Lg=al/ A - AE) 93,000 13,000 80,000
= 40,000
= 9,000
= 44,000
WINEDII=T 23,000 13,000 10,000
ArEl Jfersi 2| 23,000 13,000 10,000
202 o4H| 3,000 3,000 0
01 2L ] 3,000 3,000 0
OMXIEEX EAEFZE 0|
20,0002 *3¥ *503] 3,000
207 A0 10,000 10,000
02 AN 10,000 10,000
O/XI2Z KLIS S &<
10,000,000 & 14! 10,000
401 AIZHIL 20| 10,000 10,000
01 Al&HI 10,000 10,000
OEAFX 2LH0IE BAMH|
10,000,000& * 14 10,000
SMIMHF OIS 2Z0IoH M2 A 70,000 0 70,000
= 40,000
&= 9,000
= 21,000
SATMFOISY SHFTIGH =2 A 70,000 0 70,000
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2A:

St A

B AN TRl(STLSL/AL - AHE)
Chel: MR IIDY SIS M2A (ch9):291)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
B 40,000
== 9,000
= 21,000
307 21201 M 70,000 0 70,000
= 40,000
& 9,000
= 21,000
02 QIZHEAMAIE SR 70,000 0 70,000
O&tAIo M2tAlE AX|
70,000,000& x 14! 70,000
= 40,000
T 9,000
= 21,000
KNESHA J|erASH2EL XL /KIS LT Al) 1,791,653 2,899,683 A1,108,030
= 203,526
= 1,688,127
PNESFER 194,700 155,340 39,360
= 700
= 194,000
EXNEE 2l 30,000 30,000 0
201 LBt2Ad| 26,400 26,400
01 AF222|H| 26,400 26,400
CSENEFE(S2EX) EXFLI
300,000 *33&! K| 9,900
OANESRELFEY| 30, 000& x550& K| 16,500
202 04d] 3,600 3,600
01 =2LH0dH| 3,600 3,600
OXNESR HXIZA 04H|
10,0002 x3%8 *1203] 3,600
NES2D|=H 2 124,700 124,000 700
= 700
= 124,000
201 LetEAH| 103,000 103,000
01 AF222|H| 103,000 103,000
OXNE=ZINEE e & e
100,000,000 & * 14! 100,000
O==Z T Hield ¢
60,000& *50A 3,000
202 o4d] 700 0 700
= 700
01 2LHOY| 700 0 700
OGPS AtA| 2= A 22| 700,000& 14! 700
= 700
308 MXIEHSOIA 21,000 21,000 0
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 AHC PIGIETN
HE: MBI\ (REUXEHL/ N HDTAI)
ool xE2e) (eh9): 22)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
11 SO 2S00 et & X A AL I 21,000 21,000 0
OXZIIEE LHEA M
12,0003 x1,750& 21,000
AHSHH 2hel 40,000 1,340 38,660
405 XtekE =4l 40,000 0 40,000
01 MM ESHSHI 40,000 0 40,000
OXNHEY BAE NSESEH 7Y
40,000,000 =1CH 40,000
NHEE 2el 169,747 220,245 N50,498
= 38,500
= 131,247
HEBAIKIIE ZAL 2 77,000 68,764 8,236
= 38,500
s 38,500
201 22| 76,000 67,764 8,236
= 38,000
= 38,000
01 AtR2telbl 76,000 67,764 8,236
OHESAIXI BE+==2
45,8002 *102,8072Z Xl*1.4% 65,920
= 32,960
= 32,960
OSSAIIABAIAAS] EASE
70,0002 *11H*43] 3,080
= 1,540
= 1,540
OZBAIXIIL R 224
3,000,000 *14! 3,000
= 1,500
= 1,500
OZAIXIL €& & 0128E 82
4,000,000 *14{ 4,000
= 2,000
= 2,000
202 04l 1,000 1,000
= 500
= 500
01 LI 1,000 1,000 0
OHESAIXIIL EXISHZA
20,0003 *1H 502 1,000
= 500
= 500
ANEEE 29 2el 72,747 130,481 N7, 734
201 Et=3H| 45,547 67,281 N21,734
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SRR A

HE: MBI (REUXEHL/NHLTAI)
= NHEE 2el EERSED)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
01 AtR2teltl 210 210 0
OXZAAS B +Y
70,0003 *x3Z*12] 210
2 ZB2YH| 45,337 67,071 ~21,73%
ORVITAIE Y RSNFHTRAAY 2
=B 37,957 ,000& x 14! 37,957
ONXEH AL FRE=
65,0003 *7CH* 123 5,460
OXEAND 28I RA2=
160,000& * 12 1,920
202 O4H| 3,200 3,200
01 ZLHAbI 3,200 3,200
OAE+=30H| 100,000 x 1 *122] 1,200
Oz=ts 2 Y YA
20,0003 x2& *402] 1,600
OXNZLER HEXA
20,0002 18203 400
207 A0 22,000 60,000 38,000
02 MAPHEHI 22,000 60,000 38,000
OERNXIISS WLE 7=
22,000,000 » 14! 22,000
303 Lo = 2,000 2,000
01 Za= 2,000 2,000
OFRS&HdL Taz
500,000& x4 2,000
HERY=E 2 2F 20,000 21,000 1,000
201 Ler23H| 20,000 21,000 21,000
01 AtR2teltl 20,000 21,000 A1,000
OJIEAEA =22
1,000,000& #1524 15,000
OZBZIANEXNI BE =2
50,0002 1002 X 5,000
MZF=AAE =8 107,440 64,786 42,654
C2Y ¢ HEHS 2 107,440 54,786 52,654
201 22| 4,280 4,280 0
01 AFR-2t2ltl 3,560 3,560 0
OT=HFA EE(23)
3,000 *1,0002H 3,000
OT2YUZEAAG BHLY
70,0003 8 *12] 560
02 S3=4tl 720 720 0
OEZ2EFA AYIA S| SH=
20,0002 %30+ 122 720
308 AtXIEHHESO0IE 56,160 23,806 32,34
11 SN2 SO EtE &4 X 2AEA I 56,160 23,806 32,3%
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2A:

Mz XESMHA DA (2E LRGN/ XISEL Al
S MFEAAY FE EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OFAFHBRAIAE AU 25 & SA
22| 37,197,000& 14| 37,197
OM=4A 25 L =AHBI 2L g
cl 18,963,000 & 14! 18,963
401 Al H|IZL L 0HH] 47,000 26,700 20,300
01 Al&H| 47,000 26,700 20,300
FAEBAIE 48X &€ S22+
22,000,000& 14 22,000
OFATBAIE LHEZA S
25,000,000 14 25,000
S2HEE A =& 912,800 929,200 A 16,400
KIGIAIE = MASH A 40,800 42,200 A1,400
201 eEt2AH| 39,800 41,200 A1,400
2 3524H| 39,800 39,800 0
OB EHBESE2CIANAE SN2
39,800, 000&! 14 39,800
202 04H] 1,000 1,000
01 =2LHOY] 1,000 1,000
OXIGIAIEZ2 NASH S& ZAF
20,000& x2H *x253] 1,000
T2 Y XISIAIES MAIGH EHAAIE (HH) 872,000 837,000 215,000
207 AN 872,000 837,000 A 15,000
02 MADHEH| 872,000 887,000 A15,000
OE=2 L XotAIEE2 XASH SAAIE(H)
872,000,000 * 1A 872,000
KIZTHZEAFALS 406,966 1,630,112 A 1,123,146
= 164,326
= 242,640
AIETHERALALY =& 164,326 60,487 103,839
= 164,326
201 LBtEAH| 11,125 60,487 N49,362
= 11,125
01 AF222|H| 11,125 60,487 N49,362
OXIETHEAALS =& (29H])
7,825,000 %14 7,825
= 7,825
OXEMEAAIY =X (D=2 2=H|)
3,300,000& 14! 3,300
= 3,300
308 XX SHMSOIA 153,201 0 153,201
= 153,201
11 2| 2SS A X EAISH| 153,201 0 153,201
OXIETHEALALY =& (=2H])
153,201,000/ * 14! 153,201
= 153,201
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2A:

X ZH -
S/

olotel A
XHS#E J|BASH2IEL
2l XIETHEARALS

(etel: &)

2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
N ETHZEAAIS 22| 242,640 1,469,625 AN 1,226,985
201 LBr2IY| 38,800 48,800 210,000
01 AF22t21H] 31,300 41,300 210,000
OXHIT NF YBBI} 242
50,0002 2002 X[=2H X 20,000
OXIEMZEAL JIEE DH&Ed]
50,0003 *50& 2,500
OZHZERAS & NEMHZAIRIRAS] &
=g 70,0002 *5H 83| 2,800
OXIEIMEAIZEESE 5,000 *1,000 5,000
OXNEMEA =RIEHF| 2HH|
1,000,000& * 14! 1,000
2 2222l 7,500 7,500 0
SREUERS 625,000& * 128 7,500
202 044l 3,840 3,600 240
01 =LH0IBI 3,840 3,600 240
ONHMEA SANET L ZHEOl 4o
20,0002 x4H 45|« 12& 3,840
301 LBerENZ 200,000 1,417,225 A1,217,225
14 J|EIE 43 200,000 1,417,225 A1,217,225
OXNETHEAETEZ 200,000,000 *14 200,000
OtS=SX SA(AIZIEX/E= - IIFLNHY) 6,705,318 7,361,319 A656,001
= 50,000
= 685,000
= 5,970,318
FSOtSEXI2MEH XA 6,705,318 7,361,319 A656,001
= 50,000
T 685,000
= 5,970,318
SOISEAHEH AF(2SHAH0IE &#5F) 10,000 0 10,000
= 5,000
& 2,500
o 2,500
405 RHakE S| 10,000 0 10,000
= 5,000
& 2,500
= 2,500
01 T =5 S| 10,000 0 10,000
OYY SHLIZSEHI0IE AIS(IIAHNY])
10,000,000 * 170 2 10,000
= 5,000
& 2,500
= 2,500
SOISEA2HH AMF(CHEENESE) 70,000 0 70,000
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S Bl A

B OIS =X SRS/ - 1E2014)
Chol: SOISEXRME X2 (Erol: 2 9l)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 45,000
== 12,500
= 12,500
01 Al HIZL20H] 50,000 0 50,000
= 25,000
& 12,500
= 12,500
01 Al&H| 50,000 0 50,000
oY LessSdH |22l
50,000,000& *1JH A 50,000
= 25,000
& 12,500
= 12,500
405 XHAFFISHI 20,000 0 20,000
= 20,000
01 XML Z2EFSHI 20,000 0 20,000
O LI HE=sSHE JIAHBI
200,000& *1003 20,000
= 20,000
SOISS XIS HE AS(XEA) 4,208,818 3,169,568 1,039,250
401 AIEHIYL 2 0HY] 1,038,818 1,072,000 N33,182
01 Al&HI 1,000,000 900,000 100,000
OINEFHE, SSAEXICE QHICIN SAF
1,000,000, 000& * 14 1,000,000
02 Zeldl 33,818 172,000 A133,182
OJIEHE, S3AEXRE|A MFE ZBAF 22l
ul| 38,818,000 * 14! 38,818
402 QI2EXHE01 S 2,150,000 2,097,568 52,432
03 QI+ EFAIA B 2,150,000 2,097,568 52,432
O2ZEOIOIT E(EILIZS)
2,150,000,000& 14! 2,150,000
405 KHaFEISHI 1,020,000 0 1,020,000
01 ML ESFHSHI 1,020,000 0 1,020,000
O SHUI=ZSEHO0IE JIXHHBI
379,837,000 * 14 379,837
oY otL=38 el 0ld JIAHBI
100,000,000& * 1Al 100,000
OJIEHE I AN 299,957, 000& =14 299,957
OS2 JIXHEI (1)
22,850,000 & x 14! 22,850
oojglolsAl 22| KM JIXHHE]
2,725,000& 14! 2,725
O2Z24= X2 JIXHH]
213,631,000 & * 14 213,631
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HiM: Ol==EX SE(ABIEX/EE - JIE2HA)
&2 FOISEANIJLE XS CERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O03S&0tLtsHE JIXHH ]
1,000,000& 14| 1,000
BSEMEXR2E M= 2,416,500 0 2,416,500
= 670,000
= 1,746,500
401 AlIEH|ILL0HH] 2,416,500 0 2,416,500
= 670,000
= 1,746,500
01 Al&HI 2,416,500 0 2,416,500
O22AMZ=Xe|d M=
2,416,500,000& 14! 2,416,500
= 670,000
= 1,746,500
MY SAZH|(GDteIRA) (DIEHOIIE}) 336,133 310,339 25,7%
ol 2 HH| 207,197 189,561 17,636
ol 9| (ol D21 Al) 207,197 189,561 17,636
101 2121H] 207,197 189,561 17,636
01 24 199,765 182,129 17,636
Oo=x1U=2PE
10,9523 *38H #40A| 2tx 12 199,765
03 2R (PINHL) 2224 7,432 7,432 0
Ox X2 BLIHE 5,115
OAIRII =&
21,3093 +2H x10A| 2Hx 128 5,115
OsRhgas 22| 2,317
OAIZII &
19,3022 x 1 *10A| 2tx 12 2,317
J|l23yl 128,936 120,778 8,158
JI2dd| (o112l )4l) 128,936 120,778 8,158
201 LBt AH| 63,2% 60,498 2,798
01 AFR222|BI 63,29% 60,498 2,798
OLBt=2H| 37,280,000& x 14! 37,280
O=&| 14,592,000 & * 14 14,592
ogxtz 11,424,000 & 14| 11,424
202 o4d] 53,300 49,000 4,300
01 2LH0Y] 53,300 49,000 4,300
OYF =& J|IE20 | 53,300,000 *14] 53,300
203 PR F&IH| 12,340 11,280 1,060
01 JIASHLRFRIH] 7,000 6,000 1,000
OJ|22I P RF=E| 7,000,000 *14] 7,000
04 EASHLRFE| 5,340 5,280 60
ORNMESYHALR=LIH| 445,000& * 128 5,340
22HE S (ZELRGINE/XSLUZA]) 8,000 8,000 0
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